






MENSURATION- 3D



a) 50 %

b) 55 %

c) 59 %

d) 65 %

A grassy field has the shape of an equilateral triangle of side 6 m. A horse is tied 

to one of its vertices with a rope of length 4.2 m. The percentage of the total area 

of the field which is available for grazing is best approximated by

एक घास के मैदान का आकर 6 मीटर भुजा वाले एक समबाहु त्रिभुज का है। उसके त्रकसी शीर्ष से 

एक घोड़ा 4.2 मीटर लम्बी रस्सी से बंधा हुआ है । संपूर्ष के्षिफल में से चरने के त्रलए उपलब्ध 

के्षिफल की सवाषत्रधक त्रनकटतम प्रत्रतशतता क्या है?



a) 12 cm 

b) 10 cm 

c) 7.5 cm

d) 15 cm

The diameter of a circle circumscribing a square is 15√2 cm. What is the length 

of the side of the square?

त्रकसी वर्ष के पररवतृ का व्यास 15√𝟐 cm  है I वर्ष की भुजा की लम्बाई क क्या है ?



a) 16π

b) 26π

c) 3π

d) 4π

The surface area of a sphere of radius 5 cm is five times the area of the curved 

surface of a cone of radius 4 cm. Find the volume of the cone

5 सेमी त्रिज्या वाले एक र्ोले का पषृ्ठीय के्षिफल, 4 सेमी त्रिज्या वाले एक शंकु के वक्र पषृ्ठीय 

के्षिफल का पााँच रु्ना है। शंकु का आयतन ज्ञात कीत्रजए।



CUBE



CUBOID



RIGHT CIRCULAR CYLINDER



RIGHT CIRCULAR CONE



SPHERE



HEMISPHERE

r radius

Volume :
2

3
pr3

Curved surface Area : 2pr2

Total surface area :3pr2



SPHERICAL SHELL

r

R

r  inner radius

R outer radius

Volume :
4

3
p[R3-r3]

Total surface area : 4p[R2+r2]



a) It increases two times.

b) It increases three 

times.

c) It increases four 

times.

d) It increases eight 

If the diameter of a sphere is doubled, how does its surface area change?

यत्रद त्रकसी र्ोले का व्यास दोरु्ना कर त्रदया जाये तो उसका पषृ्ठीय के्षिफल त्रकस तरह बदलता है?



a) 9π/2 m3

b) 9π m3

c) 15π m3

d) 18π m3

A sphere of radius 3 m is cut into two equal halves. Find the volume of each 

hemisphere so formed. 

3 मीटर त्रिज्या के एक र्ोले को दो बराबर भार्ों में काटा जाता है। इस प्रकार बने प्रत्येक अधषर्ोले

का आयतन ज्ञात कीत्रजए। 



a) 1.9

b) 2.7

c) 2.5

d) 2.1

A solid metallic hemisphere of radius 6.3 cm is melted and recast into a right 

circular cylinder of radius 9 cm. What is the height (in cm, correct to one decimal 

place) of the cylinder? 

त्रिज्या 6.3 सेमी का एक ठोस धात्रत्वक र्ोलार्द्ष त्रपघलाया जाता है और 9 सेमी त्रिज्या के एक 

लम्ब वतृ्तीय बेलन में ढाला जाता है। बेलन की ऊंचाई क (सेमी में, एक दशमलव स्थान तक सही) 

क्या है?



a) 22 cm

b) 20 cm

c) 18 cm

d) 16 cm

The volume of a metallic cylindrical pipe is 3564 cm3. If its external radius is 12 

cm and thickness is 3 cm, then the length of the pipe will be:

एक धातु के बेलनाकार पाइप का आयतन 3564 सेमी3 है यत्रद इसकी बाहरी त्रिज्या 12 सेमी और

मोटाई क 3 सेमी है, तो पाइप की लंबाई क होर्ी:



a) 112 m

b) 108 m

c) 118 m

d) 106 m

The radius of a sphere is 9 cm. It is melted and drawn into a wire of radius 0.3 

cm. The length of the wire is:

एक र्ोले की त्रिज्या 9 सेमी है। इसे त्रपघलाकर 0.3 सेमी त्रिज्या का एक तार बनाया जाता है। तार 

की लम्बाई क है:



a) 946 cm³ 

b) 936 cm³ 

c) 1305 cm³ 

d) 1300 cm³ 

From a rectangular sheet of dimensions 32 cm × 18 cm, a square of side 3 cm is 

cut from the four corners of the sheet and a box is made. The volume of the box 

is:

32 सेमी × 18 सेमी त्रवमाओ ंवाली एक आयताकार शीट से, शीट के चारों कोनों से 3 सेमी भुजा 

का एक वर्ष काटा जाता है और एक बॉक्स बनाया जाता है। बॉक्स का आयतन है:



a) 1452

b) 4521

c) 2451

d) 2541

How many spherical bullets, each bullet being 7 cm in diameter, can be made out 

of a cube of lead whose edge. measures 77 cm ?

सीसे के एक घन से, त्रजसकी धार 7 सेमी व्यास की है, त्रकतनी र्ोलाकार र्ोत्रलयां बनाई क जा सकती 

हैं? माप 77 सेमी ?



a) 864

b) 756

c) 936

d) 921

A solid cube having volume 46656 cm3 is cut into 27 cubes of equal volume. The 

surface area (in cm2) of the smaller cubes is:

46656 सेमी3 आयतन वाले एक ठोस घन को समान आयतन वाले 27 घनों में काटा जाता है। छोटे 

घनों का पषृ्ठीय के्षिफल (सेमी2 में) है:



a) 124.5

b) 103.5

c) 115.5

d) 98.5

The volume of a right circular cone is 462 cm³. If is height is 12 cm, then the area 

of its base (in cm²)

एक लम्बवतृ्तीय शंकु का आयतन 462 सेमी³ है। यत्रद ऊंचाई क 12 सेमी है, तो इसके आधार का 

के्षिफल (सेमी² में)






